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GEOMETRICAL DRAWING  
4th Paper  

( Lower Grade ) 

 

Date :  25. 11. 2014 ] [ Time : 2.30 P.M. to 4.30 P.M. 

( Max. Marks : 100 ) 
 

( English Version ) 
 

Instructions to the Candidates :  

i) Write your Register Number and Grade clearly. 

ii) All the lines of construction should be retained. 

iii) Neatness carries more marks. 

 Attempt any five of the following : 

1. In a circle of radius 3 cm, inscribe the largest possible rectangle. 20  

2. Within an isosceles triangle draw a circle touching all its sides. 20  

3. Construct a square of 5 cm side and escribe a circle about it touching all 

the four corners of the square. 20  

4. Construct a triangle ABC, AB = 7 cm, BC = 6 cm and AC = 5 cm. 20  

5. Draw a straight line of 9 cm and divide it into eight equal parts. 20  

6. Draw a circle of radius 3 cm and divide the circle into six equal parts. 20  

7. Construct an angle of 120° without using the protractor and divide it into 

four equal parts. 20 
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( Kannada Version ) 

ü̆ÂÍêÈãŒÈ ¬ÒzÊ∑Îã 

•üÂ̆Wå˘̊¸πÂúπ ‚ÂÍºÂ»πÂ›ÂÈ : 

i) çÆÂÈV »ÛË¢«Âä (àÜ‚ÂJ¬˜Ô) ‚Â¢zW ÆÂÈ∆ÂÈO ‡XËä (πXË√˜Ô) ŒÈ»ÂÈR ‚ÂS·ÂJÕÊÇ Ã¬íÈà. 

ii) ¶∑Îã ¬ÂºÂ»ŒÈ Ø£ÊY ¬ÒzπÂ›Â»ÂÈR „ÊπûÈË ßàö. 

iii) ‚ÂZºÂF∆π „ÑE»Â •¢∑πÂ›Â»ÂÈR çË√Â£ÊπÂÈÕÂÏ«ÂÈ. 

 ® x›ÂÇ»Â …ÂX‡RπÂ›ÂëY Œ⁄ÕÂÏ«Ê«Â¬ÂÍ ±«Â»ÂÈR èâö. 

1. 3 ‚¢.êÈË. ãXæWê¬ÂÈÕÂ ÕÂÎ∆ÂO«ÂëY •ã «Û√ÂL«Ê«Â ¶ŒÈ∆ÂÕÂ»ÂÈR ¬ÂÑö. 20 

2. ≤¢«ÂÈ ‚ÂÆÂÈåZüÊ„ÂÈ ãXü̆ÂÈæ«ÂëY •«Â¬Â ÆÂÈÍ¬ÂÈ üÊ„ÂÈπÂúπ ‚ÂSò¸‚ÂÈÕÂ¢∆ ≤¢«ÂÈ ÕÂÎ∆ÂOÕÂ»ÂÈR  
¬ÂÑö. 20  

3. 5 ‚¢.êÈË. ü̆ÂÈæ«Â ≤¢«ÂÈ ºı∑ÕÂ»ÂÈR ¬ÂÑö •«Â¬Â »Ê‹È@ xÍË»Âè¢«ÂÈπÂ›ÂëY „Ê«ÂÈ„ÛËπÂÈÕÂ¢∆ 

≤¢«ÂÈ …ÂàÕÂÎ∆ÂOÕÂ»ÂÈR ¬ÂÑö. 20  

4. AB = 7 ‚¢.êÈË.,  BC = 6 ‚¢.êÈË.,  AC = 5 ‚¢.êÈË.  ß¬ÂÈÕÂ¢∆ ABC ≤¢«ÂÈ 

ãXü̆ÂÈæÕÂ»ÂÈR ¬ÂÑö. 20  

5. 9 ‚¢.êÈË. •›Â∆ŒÈ ‚Â¬Â›Â¬ÒzŒÈ»ÂÈR Ø›«ÂÈ •«Â»ÂÈR 8 ‚ÂÆÂÈü̆ÊπÂπÂ›Â»ÊRÇ ÆÂ⁄â. 20  

6. 3 ‚¢.êÈË. ãXæWê¬ÂÈÕÂ ≤¢«ÂÈ ÕÂÎ∆ÂOÕÂ»ÂÈR ‚ÂÆÂÈ»Ê«Â ¶¬ÂÈ ü̆ÊπÂπÂ›Â»ÊRÇ ÆÂ⁄â. 20  

7. xÍË»ÂÆÂ⁄…Â∑«Â ‚Â„ÊŒÈê‹Y« 120° xÍË»ÂÕÂ»ÂÈR ¬ÂÑö, •«Â»ÂÈR »Ê‹È@ ‚ÂÆÂÈü̆ÊπÂπÂ›Â»ÊRÇ   

ÆÂ⁄â. 20 

 
( Hindi Version )  

ÖÿÊÁ◊ÃËÿ «˛UÊÚß¢ª 

ÁfllÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚ÍøŸÊ∞° —  
i) •¬ŸÊ ⁄UÁ¡S≈UU⁄U Ÿê’⁄U •ÊÒ⁄U ª˝«U S¬c≈U Á‹Áπ∞ –  

ii) ⁄UøŸÊ ∑§Ë ‚◊SÃ ⁄UπÊ∞° flÒ‚ „UË ⁄UÁπ∞ –  

iii) Sflë¿UÃÊ ∑§Ê •Áœ∑§ •¢∑§ Á◊‹¥ª –  

 ÁŸêŸ ◊¥ ‚ Á∑§ã„UË¥ ¬Ê°ø ∑§Ê ∑§⁄¥U —  

1. 3 ‚◊Ë ÁòÊÖÿÊ flÊ‹Ê flÎûÊ ∑§ •¢Œ⁄U ‚¢÷fl ‚’‚ ’«∏UÊ •ÊÿÃ ’ŸÊß∞ –  20  

2. ∞∑§ ‚◊Ám’Ê„ÈU ÁòÊ÷È¡ ◊¥ ‚÷Ë ÷È¡Ê•Ê¥ ∑§Ê S¬‡Ê¸ ∑§⁄UÃÊ „ÈU•Ê ∞∑§ flÎûÊ πË¥Áøÿ –  20  
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3. 5 ‚◊Ë ÷È¡Ê ∑§Ê ∞∑§ flª¸ ’ŸÊß∞ – ß‚ flª¸ ∑§ øÊ⁄UÊ¥ ∑§ÊŸÊ¥ ∑§Ê S¬‡Ê¸ ∑§⁄UÃÊ „ÈU•Ê ∞∑§ ’Á„UflÎ¸ûÊ 
πË¥Áøÿ –   20  

4. ∞∑§ ÁòÊ÷È¡ ABC  ’ŸÊß∞ Á¡‚◊¥ AB = 7 ‚◊Ë, BC = 6 ‚◊Ë ÃÕÊ AC = 5 ‚◊Ë „UÊ –  20  

5. 9 ‚◊Ë ∑§Ë ∞∑§ ‚⁄U‹ ⁄UπÊ πË¥ø∑§⁄U ©U‚ •Ê∆U ‚◊ÊŸ ÷ÊªÊ¥ ◊¥ Áfl÷ÊÁ¡Ã ∑§ËÁ¡ÿ –  20  

6. 3 ‚◊Ë ÁòÊÖÿÊ flÊ‹ flÎûÊ πË¥ø∑§⁄U ©U‚ ¿U— ‚◊ÊŸ ÷ÊªÊ¥ ◊¥ Áfl÷ÊÁ¡Ã ∑§ËÁ¡ÿ –  20  

7. Á’ŸÊ øÊ°ŒÊ ∑§Ë ‚„UÊÿÃÊ ∑§ 120°  ∑§Ê ∞∑§ ∑§ÊáÊ πË¥ø∑§⁄U ©U‚ øÊ⁄U ’⁄UÊ’⁄U ÷ÊªÊ¥ ◊¥ Áfl÷ÊÁ¡Ã 
∑§ËÁ¡∞ –   20 

 

( Marathi Version )  

 ÷ÍÁ◊ÃËÿ «˛UÊß¢ª 

ÁfllÊâÿÊZŸÊ ‚ÍøŸÊ — 

i) •Ê¬‹ ⁄UÁ¡c≈U⁄U Ÿ¢’⁄U •ÊÁáÊ ª̋«U S¬c≈U Á‹„UÊ.  

ii) •Ê∑Î§ÃË ⁄UøŸëÿÊ ‚fl¸ ⁄U·Ê ÃSÿÊø ∆UflÊ.  

iii) Sflë¿UÃ‹Ê ¡ÊSÃ •¢∑§ Á◊›UÃË‹.   

 πÊ‹Ë‹¬Ò∑§Ë ∑§ÊáÊÃ„UË ¬Êø ¬˝‡Ÿ ‚Ê«UflÊ — 

1. 3 ‚◊Ë ÁòÊÖÿÊ •‚áÊÊ:ÿÊ flÃÈ¸›UÊ◊äÿ ‡ÊÄÿ ÁÃÃ∑§Ê ◊Ê∆UÊ •ÊÿÊÃ •ÊπÊ.  20  

2. ∞∑§Ê ‚◊Ám÷È¡ ÁòÊ∑§ÊáÊÊ◊äÿ ‚fl¸ ’Ê¡Í¢ŸÊ S¬‡Ê¸ ∑§⁄UáÊÊ⁄U flÃÈ¸›U •ÊπÊ.  20  

3. 5 ‚◊Ë ’Ê¡Í •‚áÊÊ:ÿÊ øÊÒ∑§ÊŸÊøË ⁄UøŸÊ ∑§⁄UÊ fl ‚fl¸ øÊ⁄U ∑§ÊŸÊ¢ŸÊ S¬‡Ê¸ ∑§⁄UáÊÊ⁄U U flÃÍ¸›U àÿÊ◊äÿ 
’Á„U‹¸ÁπÃ ∑§⁄UÊ.  20  

4. ÁòÊ∑§ÊáÊ ABC  øË ⁄UøŸÊ ∑§⁄UÊ AB = 7 ‚◊Ë, BC = 6 ‚◊Ë, AC = 5 ‚◊Ë. 20  

5. 9 ‚◊Ë øË ‚⁄U›U ⁄U·Ê •ÊπÊ fl •Ê∆U ‚◊ÊŸ ÷ÊªÊ¢Ã Áfl÷ÊÁ¡Ã ∑§⁄UÊ.  20  

6. 3 ‚◊Ë ÁòÊÖÿÊ •‚áÊÊ:ÿÊ flÃÈ¸›UÊøË ⁄UøŸÊ ∑§⁄UÊ fl flÃÈ¸›UÊø ‚„UÊ ‚◊ÊŸ ÷ÊªÊÃ Áfl÷Ê¡Ÿ ∑§⁄UÊ. 20  

7. ∑§ÊŸ◊Ê¬∑§ Ÿ flÊ¬⁄UÃÊ 120°  ∑§ÊŸÊøË ⁄UøŸÊ ∑§⁄UÊ  fl àÿÊø øÊ⁄U ‚◊ÊŸ ÷ÊªÊÃ Áfl÷Ê¡Ÿ ∑§⁄UÊ. 20 



( Urdu Version )
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20 v¢aÆÛ¢zZáŠZ],{~ƒÐ(,ZÂ‡ìZ²zZc*¯NX 3 .1

20 Zq-[�z~Z—:)@y(ÆZ0+gZq-Z(ŠZ],{¯N�ZkÆXZHqÃg@*ƒX .2

20 v¢a»Zq-%,¯NZzgZkÆ!*CÙZq-ŠZ],{eZB�ZkÆXÃâVÃg@*ƒX  5 .3

20 v¢aƒX 5 = AC v¢aZzg 6 = BC v¢a 7 = AB ¯NT»I ABC Zq-[ .4

20 v¢a»Zq-â�{ÆZzgZÐWJ',Z',8{ð OV~„™,X 9 .5

20 v¢aÛ¢»Zq-ŠZ],{¯NZzgŠZ],{Ãb',Z',”V~„™,X 3 .6

20 »Zq-iZzt¯NZzgZÐeg',Z',”V~„™,X 120
o 6,zR,IZEwG% .7
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